
11) . IJse the conjugate bean method to delermirle the deflection at joint --c for the 

structure nr~d loadillgs shown below. (20%) 

W E, 1 - constant 

1'21 Calculate elerrleilt forces for the structure shown below by using 

matrix displacement method. (40%) 

/p 7- E - 30000 ksi 

(31. llse the morneni diskibution ~netllod to determine the end moments for 

the fianle arld loading condition indicated in problem. (20%) 

(41 Analyze the given frame structure by the slope dellectiorl ulethod 
and construct the monient diagram for all nlembars. (20%) 

- P= 100 Kip 


